Commun. Fac. Sci. Univ. Ank. Series A₁ V. 41 pp. 179-187 1992)

ON THE DEGREE OF APPROXIMATION OF A FUNCTION BY NÖRLUND MEANS OF ITS FOURIER-JACOBI SERIES

NARENDRA KUMAR SHARMA and RAJIV SINHA

Department of Mathematics, S.M.P.G. College Chandausi-202412 (INDIA)

(Received Dec. 4, 1991; Accepted July 14, 1992)

ABSTRACT

In the present paper we prove a theorem on the degree of approximation of a function by Nörlund means of its Fourier-Jacobi series, which generalizes the results of [2] and [3].

1. Let Σ a_n be any given series with the sequence of partial sums $\{S_n\}_{n=1}$ If $\{P_n\}$ is a sequence of constants, real or complex numbers, such that

$$P_{n} = p_{0} + p_{1} + \dots + p_{n}$$
 (1.1)

then the sequence-to-sequence-transformation

$$t_n = \frac{1}{P_n} \sum_{v=0}^{n} p_v S_{n-v}$$
 (1.2)

defines the sequence $\{t_n\}$ of Nörlund means of the series $\sum\limits_{n=0}^{\infty}~a_n$ generated by the sequence $\{p_n\}$.

The series $\sum\limits_{n=0}^{\infty} a_n$ is said be summable by Nörlund means or summable (N,p_n) to the sum S, if limit t_n exists and equal to S as $n \to \infty$.

2. Let $F(\theta) = f(\cos \theta)$, $\theta \in [0, \pi]$ be a Lebesque measurable function such that

$$\int_{0}^{\pi} f(\theta) p_{n} (\cos \theta) (\sin \theta)^{2} \beta^{+1} \cos \theta)^{2} \beta^{+1} d\theta$$

exists, where $\beta > -1$, and p_n (Cos θ) is the nth-Jacobi polynomial of order (α, β) . The Fourier-Jacobi series associated with this function is given by

$$f(\Theta) \sim \sum_{n=1}^{\infty} \hat{f}(n) h_n R_n (\cos \theta)$$
 (2.2)

where

$$\hat{\mathbf{f}} (\mathbf{n}) = \int_{0}^{\pi} \mathbf{f} (\varnothing) \ \mathbf{R}_{\mathbf{n}} (\mathbf{Cos} \ \theta) \ \mathbf{d}_{\mu} (\varnothing)$$
 (2.3)

$$\mathbf{h}_{\mathbf{n}} = \int_{0}^{\mathbf{n}} [\mathbf{R}_{\mathbf{n}} (\mathbf{Cos} \ \theta) \ \mathbf{d}_{\mu} (\theta)]^{-1}$$

$$= \frac{\gamma (2n + \alpha + \beta 1) \gamma(n + \beta + \alpha + 1) \gamma (n + \beta + 1)}{(n + \beta + 1) \gamma(n + \beta) \gamma(\alpha + 1) \gamma(\beta + 1)}$$
(2.4)

$$R_{n} (Cos \theta) = \frac{p_{n} (Cos \theta)}{P_{n} (1)}$$
 (2.5)

and

$$d\mu (\theta) = (Sin (\theta)^{2\alpha + 1} (Cos \theta)^{2\beta + 1}$$
 (2.6)

Askey and Wainger [1] have defined the convolution structure of two functions f_1 and f_2 of L-class on $[0, \pi]$ in the following manner:

$$(\mathbf{f}_{1}^{*} \mathbf{f}_{2}) (\theta) = \int_{0}^{\pi} \mathbf{f}_{1} (\varnothing) \mathbf{T}_{\varnothing} \mathbf{f}_{2} (\theta) \mathbf{d}_{\mu} (\varnothing)$$
 (2.7)

where the generalisation translation T $_{\varnothing}$ is defined by

$$\mathbf{T}_{\varnothing}(\theta) = \int_{0}^{\pi} f(\psi) \mathbf{k}(\theta, \varnothing, \psi) d_{\mu}(\psi)$$
 (2.8)

and K $(\theta,~\varnothing\,,\,\psi)$ is a non-negative symmetric function such that

$$R_{n} (Cos \theta) R_{n} (Cos \emptyset) = \int_{0}^{\pi} k (\theta, \emptyset, \psi) (Cos \psi) d_{\mu} (\psi)$$
 (2.9)

$$\int_{0}^{\pi} \mathbf{k} (\theta, \varnothing, \psi) d_{\mu} (\psi) = 1$$
 (2.10)

3. Partial sum S_n (f; θ) of the series (2.2) is given by

$$\begin{split} S_n\left(f;\,\theta\right) &= \sum_{v=0}^n \; \boldsymbol{\hat{f}} \; (v) \; h_v \; R_v \; (\text{Cos } \theta) \\ &= \; \sum_{v=0}^n h_v \; \int^{\pi} \; \boldsymbol{f} \; (\varnothing) \; R_v \; (\text{Cos } \theta) \; R_v \; (\text{Cos } \theta) \; d_{\mu} \, \varnothing \end{split}$$

Now using the orthogonal property of Jacobi polynomials and the relation (2.9) we have

$$\begin{split} S_{n}\left(f;\,\theta\right) - f(\theta) &= \sum_{v=0}^{n} h_{v} \int_{0}^{\pi} f(\,\varnothing) \,\,\mathbf{k}\left(\theta,\,\,\varnothing\,,\,\,\psi\right) R_{n}(\cos\psi) \,\,\mathbf{d}_{\mu}\left(\,\varnothing\right) \,\mathbf{d}_{\mu}\left(\psi\right) f(\theta) \\ &= \sum_{v=0}^{n} \,\,h_{v} \int_{0}^{\pi} \left\{T_{\,\varnothing} \,\,f(\theta) - f(\theta)\right\} \,\,R_{n} \,\,Cos\,\psi) \,\,\mathbf{d}_{\mu}\left(\psi\right) \\ &= \,\,B_{n} \int_{0}^{\pi} \!\!w_{f}\left(\psi\right) \,\,R_{n} \,\,\left(Cos\,\psi\right) \,\,\mathbf{d}_{\mu}\left(\psi\right) \end{split} \tag{3.1}$$

where
$$\omega_f(\psi) = T_{\varnothing}(f(\theta) - f(\theta))$$
 (3.2)

and
$$B_n = \frac{\gamma (n + \beta + \alpha + 2)}{\gamma (\alpha + 1) \gamma (n + \beta + 1)} \sim n^{\alpha + 1}.$$

Therefore, we have

$$\begin{split} &t_n\left(\theta\right)-f(\theta) = \frac{1}{P_n} \sum_{k=0}^n p_k \left\{S_{n-k}\left(f;\,\theta\right)-f\left(\theta\right)\right\} \\ &= \frac{1}{P_k} \sum_{k=0}^n p_k \left.B_{n-k} \int_0^\pi \omega(\psi) \right. \left.p_{n-k}^{\left(\alpha+1,\,\beta\right)}\!(\cos\,\psi) \right. d\,\psi \\ &= \frac{2\,\alpha+1} \left.2\,\beta+1\right] \end{split}$$

where $\omega (\psi) = \omega_f (\psi) \left(\operatorname{Sin} \frac{\psi}{2} \right)^{2\alpha + 1} \left(\operatorname{Cos} \frac{\psi}{2} \right)^{2\beta + 1}$

In 1986 Pandey [3] proved the following theorem Theorem A. Let $0 < \delta \le \lambda$, If x is a point such that

$$\varnothing$$
 (t) = $\int_{t}^{\delta} \frac{|\varnothing(u)|}{u} p \left[\frac{1}{n}\right] du$

$$= 0 \left(\frac{P}{t} \right] g(t)$$
 as $t \to 0$

then

$$t_n(x) - f(x) = O\left(g\left(\frac{1}{n}\right)\right)$$

where g (t) is a positive increasing function such that

$$P\left\lceil \frac{1}{t}\right\rceil g(t) \rightarrow \infty \text{ as } t \rightarrow 0$$

In (1988) Pathak and Jain [2] proved the following theorem

Theorem B: If $\{p_n\}$ is a non-negative and non-increasing sequence of real or complex numbers, $-1 \le \alpha \le -\frac{1}{2}$, $\beta > \alpha$ and

$$\int_{t}^{\delta} \frac{\omega(\mu) p_{c}\left(\frac{1}{u}\right)}{u^{\alpha+3/2}} du = O(1) \text{ as } t \to 0$$

then
$$L_n$$
 $(f;\;\theta)$ – $f\left(\theta\right)$ = O $\left(\frac{1}{|P_n|}\right)$.

The object of the present paper is to generalize the above two theorems A and B in following from.

Our theorem is as follows:

Theorem: If $\{p_n\}$ is a non-negative and non-increasing sequence of real or complex numbers, $-1\leq\alpha\leq-\frac{1}{2},\beta>\alpha$ and

$$\Phi (t) = \int_{t}^{\delta} \frac{w(u) P\left(\frac{1}{u}\right)}{u^{\alpha} + \frac{3}{2}} du = O(P\left[\frac{1}{t}\right]^{g}(t)). \tag{4.1}$$

as $t \rightarrow 0$

then

$$L_n \ (f; \ \theta) \ - \ f \ (\theta) \ = \ O \ \left(g \ \left(\frac{1}{n} \right) \right)$$

where g (t) is a positive, increasing function such that

$$P\left[\frac{1}{t}\right] g(t) \rightarrow \infty \text{ as } t \rightarrow 0.$$
 (4.2)

We shall use the following lemmas in the proof of our theorem. Lemma 1: [2]: Let α , β be real numbers or equal to -1, then

for
$$0 \le \psi \le \frac{1}{n}$$

$$N_n(\psi) = O(n^{2\alpha+2})$$

where

$$N_{n}\left(\psi\right) \; = \; \frac{1}{P_{n}} \; \sum_{k=0}^{n} p_{k} \; B_{n-k} \; P_{n-k}^{\left(\alpha+1,\;\beta\right)} \; \left(\cos\psi\right) \label{eq:n_n_def}$$

Lemma 2: [5]: For $\frac{1}{n} \le \psi \le \pi - \frac{1}{n}$,

$$N_{n}\left(\psi\right) \; = \; O\left(\frac{n^{\alpha}-\frac{1}{2}}{p_{n}}\right)\left(P\left(\frac{1}{\psi}\right)\left(\sin\psi/2\right)^{\alpha+\frac{3}{2}} \left(\omega s\psi/2\right)^{\beta+\frac{1}{2}}$$

$$+ O \left[\left(\begin{array}{cc} \alpha - \frac{1}{2} \\ \mathbf{n} \end{array} \right) \left(\begin{array}{cc} \left(\sin \psi / 2 \right) & -\alpha - 5 / 2 \\ \left(\cos \psi / 2 \right) & \end{array} \right] \right]$$

Lemma 3: Under the condition (4.1), we have

$$\int_0^t |\omega(u)| du = O\left(t^{\alpha + \frac{3}{2}} g(t)\right)$$
 (5.3)

Proof of Lemma 3: Let

$$\omega (t) = \int_{0}^{t} |\omega (u)| P \left[\frac{1}{u}\right] du$$

using the condition (4.1), we have

$$\int_{0}^{t} u \, \Phi'(u) \, du = \int_{0}^{t} |\omega(u)| P \left[\frac{1}{u}\right]^{-du}$$

on integrating by parts, we get

$$\omega (t) = O (t) \qquad P \left[\frac{1}{t}\right] \qquad g(t) + \int_{0}^{t} P \left[\frac{1}{u}\right] g(u) du$$

$$= O (t) \qquad P \left[\frac{1}{t}\right] \qquad g(t)$$

$$= O (t) \qquad P \left[\frac{1}{t}\right] \qquad g(t)$$

Thus we have
$$\int_{0}^{t} \mid \omega \left(u \right) \mid du = \int_{0}^{t} \frac{\mid w \left(u \right) \mid P}{P \left[\frac{1}{u} \right]} \frac{du}{\left[\frac{1}{u} \right]}$$

$$\leq rac{1}{P\left[rac{1}{t}
ight]} \int_{0}^{t} \left| \omega \left(\mathbf{u}
ight) \right| P \int_{\mathbf{u}}^{\mathbf{d}} \mathbf{d} \mathbf{u}$$

$$= O\left(\frac{1}{P\left[\frac{1}{t}\right]}\right) O\left(t \frac{\alpha + \frac{3}{2}}{2} g(t)\right) = O\left(t \frac{\alpha + \frac{3}{2}}{2} g(t)\right)$$

Proof of the Theorem: We have

$$= I_1 + I_2 + I_3$$
, say

we have

$$\begin{split} I_1 &= \int_0^{\frac{1}{n}} \omega \left(\psi \right) \; N_n \left(\psi \right) \; d \; \psi \\ &= \; O \; (n^{2\alpha + 2}) \; O \left(\frac{1}{n^2 + \frac{3}{2}} \; g \; \left(\frac{1}{n} \right) \right) \\ &= \; O \; \left(g \; \left(\frac{1}{n} \right) \right) \quad \alpha < - \; \frac{1}{2} \end{split}$$

Now, we consider I,

$$\begin{split} I_3 &= \int_{\pi^-}^{\pi} \frac{1}{n} \omega (\psi) N_n (\psi) d\psi \\ &= \int_0^{\pi} \omega (\pi^- \psi) N_n (\psi) d\psi \\ &= O(n^{2\alpha + 2}) \int_0^{\pi} |\omega (\pi^- \psi)| d\psi \\ &= O(n^{2\alpha + 2}) O\left(\frac{1}{n^{\alpha + \frac{3}{2}}} g\left(\frac{1}{n}\right)\right) \\ &= O\left(g\left(\frac{1}{n}\right)\right) \end{split}$$

Lastly, we consider I2

$$I_{2} = \int_{\frac{1}{R}}^{\pi - \frac{1}{n}} \omega (\psi) N_{n} (\psi) d \psi$$

$$+ O(n^{\alpha-\frac{1}{2}}\int_{\frac{1}{n}}^{\pi-\frac{1}{n}}|\omega(\psi)|\left\{(\sin\psi/2)-\frac{5}{2}\left(\cos\frac{\psi}{2}\right)^{-\beta-\frac{3}{2}}\right\}d\psi$$

$$= O\left(\frac{n^{\alpha + \frac{1}{2}}}{P_n}\right) \int_{\frac{1}{n}}^{\pi - \frac{1}{n}} \frac{+\omega(\psi) + P\left(\frac{1}{\psi}\right) d\psi}{\psi^{\alpha + \frac{3}{2}}}$$

$$+ \ O \left(\frac{n^{\alpha-\frac{1}{2}}}{P_n}\right) \int_{\frac{1}{n}}^{\pi-\frac{1}{n}} \frac{+\omega(\psi) + p\left(\frac{1}{\psi}\right)d\psi}{\psi^{\alpha+\frac{5}{2}}}$$

$$= O\left(\frac{1}{P_n} p_n g\left(\frac{1}{n}\right)\right) = O\left(g\left(\frac{1}{n}\right)\right)$$

combining the relations I1, I2, I3, we get

$$I_n(f; \theta) - f(\theta) = O\left(g\left(\frac{1}{n}\right)\right)$$

This completes the proof of the theorem.

REFERENCES

- A.H. SIDDIQUI., On certain problem in the theory of Fourier series. Ph. D. Thesis, Aligarh Muslim University (1967).
- [2] ASHUTOSH PATHAK and SURESH JAIN., On the degree of approximation of a function by Nörlund means of its Fourier-Jacobi series, Vikram Mathematical J. Vol. VIII (1988).

- [3] G.S. PANDEY and SUNITA GUPTA., On the degree of approximation by the Nörlung means of its Fourier series. Vikram Mathematical Journal Vol. VI (1986).
- [4] K. QURESHI., Approximation of a function by its Fourier series. Ph. D. Thesis, University of Sagar (1982).
- [5] GUPTA, D.P., D. Sc. Thesis Allahabad (1973).